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4R 58 68 1R 8H 9A 10AR 1A 12R 1H 2R 3A
wnk|wex|ans|wex|ans| pex|ans| sex|ars| pex| aak| pex|ans pex|ans| pex|anx| s x|ans| aex|aas| pe x| anspex
2016 | 93| 56| 106 62| 102| 56| 16| 77| 99| 4| 85| 55| 72| 48| 101 63| 9| 58 75 42| 11| 55| 75| 28
2017 | 81| 38| 88| 34 91| 2| 95 2| 106 32| 10| 35| 76| 29| 49| 17| 61| 28 65 37| 11.2| 36| 12| 4
2018 | 116| 46| 87| 12| 29| 12| 63| 14| 94| 28] 7| 12| 53| 04| 55 1| 37| 18 28| 14| 43| 12| 28| 1.1
2019 | 63| 23| 23| 04 18| 09| 23| 09| 44| 09| 25 1| 4| 2| 46| 2| 45 17| 37 2| 4] 1
&
BEERE (%)= RAEHORZARESE x 100 BEHERLEER (%)= FEBDEEARESE x 100
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